BEAD GEXEF - BTT )

Ffa4FE 12 | B
b 1 X % # F O A | 5 7T

B 7 B o X 6,716 13,353 6,959 6,394

X B # K 1,173 2,882 1,413 |,469

£ P 1 K 570 |,454 733 721

N RO K 993 2,646 1,342 1,304

Bl %&£ # K 6,917 14,880 7,277 7,603

Nn |’ R # X 1,312 3,149 1,536 1,613

ik x M # K 1,052 2,484 1,221 1,263

it & & # K 7,860 18,721 8,987 9,734

BE o M o X 6,324 16,042 8,020 8,022

& 5 32,917 75,61 | 37,488 38,123
LF4F|12A 18

w X 4 B T A& tH F A ] B8 %z

BE 7 U X BETEIATA 4,487 9,292 4,663 4,629
¥ P | 84 341 191 150

w® B 460 869 452 4117

£ L o H 734 1,307 819 488

g R H 296 516 277 239

% H] 555 1,028 557 47|

o ORX 3 6,716 13,353 6,959 6,394

N E # X = B 87 212 106 106
X & 808 1,974 966 1,008

B K EH | 40 358 | 74 | 84

+ K 18 #r 8 138 338 167 171

A - S 1,173 2,882 1,413 1,469

k P # K ® B H | 44 360 | 84 176
& fF 16 39 17 22

¥ @\ H | 27 402 192 210

& & H 96 229 109 120

R HT 117 263 148 115

K & 70 16| 83 78

e K 3 570 |,454 733 72|

N R O X N R H] 181 416 209 207
BN R H 142 387 195 192

7 PR HT 32 77 37 40

B R ¥ 462 1,319 680 639

g B 65 1 80 87 q3
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o K 3 993 2,646 1,342 1,304
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BEAD GBXF - BT T35

Sf4FE 128 |1 B
i K % B/ T A& #HF B | A = B -8
Bl %&£ #% x | Bl &% H 629 1,526 738 788
F9 & %7 B 8T | 2 2 0
A i HT 162 416 201 215
m v B 722 1,625 793 832
& % 6 936 2,174 1,007 1,167
Bl % ] q8 393 |54 239
%= & 1,932 3,961 1,986 1,975
EZEE | TB 222 413 205 208
B 2TB8B 430 860 42| 439
8 3 T8 469 787 398 389
8 4 TB 721 1,382 708 674
MW I 30 18 12
NGB OFE S HT 429 915 454 46|
FE EC & %7 E 0T 16 43 17 26
N wE o ET |39 353 175 178
o X 6,917 14,880 7,277 7,603
IR K3t B R AR ET 1,312 3,149 1,536 1,613
#H K3 1,312 3,149 1,536 1,613
it XX R i X & ¢ € 77 233 1 20 113
& ¢ ¥ @ ] 62 152 74 78
A Bk OE T 107 254 119 135
g @\ 64 148 74 74
it # H 73 198 qq qq
N OB 31 86 44 42
® A 66 183 q3 q0
X 8§ f 6 |7 8 q
e | TH ql 185 a8 87
EmNE2TAH ql 205 93 112
ENaE3TAH 106 209 102 107
e 4 TH 135 309 148 161
maAES5TH 55 122 59 63
a6 TH 88 183 q0 93
A - G- 1,052 2,484 1,221 1,263
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EEAD (X3 - BTT 5)
Sf4F 1281 B
i K % Bq T 4% #HF B | A = B -8
LtES®RE | EWw I TH 187 41 | 198 213
£EWL2TBH 198 455 210 245
£WL3TBH 176 400 206 194
£ 4 TBH 335 894 394 500
£WL5TAH 269 610 289 321
fFWL6TRH 282 686 346 340
£WL 7 T8 231 577 284 293
£WL 8 TBH 275 622 308 314
WwE | TB 433 930 434 496
WmwWE2TB 131 339 162 177
WmWE3ITBH 230 519 268 25|
WwWE 4 TB | 54 362 176 186
WES5TEBE 247 577 276 301
WmwE6TBH 264 628 295 333
NI T B 27 63 32 31
NS 2 T H 349 908 45| 457
NS 3 T H 182 405 209 196
NS 4 T H 559 1,207 553 654
&1 TH 205 485 24| 244
& 2T7TEH 231 572 279 293
&3 T7TEH 139 325 |1 69 156
& 4T7TH 26| 678 324 354
&5 T7H 186 434 19 243
BARE | TH 196 499 245 254
BRE2TH 209 575 2717 298
BHREITHE 70 188 q3 a5
BARE4TH 202 459 2117 242
PHRESTH 29| 772 353 419
Afk& | TH 157 397 196 201
A& 2TH 170 423 214 209
A& 3TH 342 808 399 409
AfR&4TH 672 1,513 698 815
# X E 7,860 18,721 8,987 9,734
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BEAD GBXF - BT T35

Sf4F 1281 B
H B % Bq T 4% #H HF R A = B -8
Ry MR | @yl TH 160 750 495 255
BT E2TH 163 415 21| 204
By aE3TH 197 468 24 | 2217
BT E4THE 277 754 361 393
o ES5TH 330 818 375 443
By R 6TH 321 q17 467 450
o BE7TH 420 1,150 592 558
W/ NI TE 285 711 331 380
W/ N2TH 228 57 | 275 296
W/ N3TH 364 985 478 507
W/ N4TH 292 773 38| 392
W/ N5TH 282 729 365 364
wr e TH 512 1,117 563 554
WrE2TH 450 1,003 492 51|
wrE3TH 353 1,011 508 503
WwWrE4TH 313 535 262 273
B¥ | TB 278 732 368 364
B¥2TBH 442 1,037 520 517
BR3TAH 310 766 385 381
B¥ 4 T8 329 616 295 321
wE | TH | 138 33 105
v B 3 TH |7 46 22 24
#H K3 6,324 16,042 8,020 8,022
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